
I 
 E

S
H

A
K
  
 

I 
 E

S
H

A
K
  
 

S
 O

U
E

L
L
E

T
T

E

  
  

A
N

D
 M

IS
C
 D

E
T

A
IL

S
  
 

  
  
  
 W

A
L
L
 T

Y
P

E
S
  
  
  

A501

3
/4
" 
=
 1
’-
0
"

0
9
/

2
6
/

1
1

IS
S

U
E

D
 

F
O

R
 

H
A

N
N

A
F

O
R

D
 

6
0

%
 

R
E

V
IE

W
0

ELEVATION VARIES SEE A101 ELEVATION VARIES SEE A101

FLOOR FINISH PLAN

FINISHED FLOOR- SEE

FLOOR FINISH PLAN

FINISHED FLOOR- SEE

5/8" GYPSUM WALL BOARD

5/8" GYPSUM WALL BOARD

5/8" GYPSUM WALL BOARD

METAL TOP TRACK

METAL BOTTOM TRACK

3 5/8" METAL STUD @ 24" OC

METAL TOP TRACK

METAL BOTTOM TRACK

AS REQUIRED

METAL STUD BRIDGING

AS REQUIRED

METAL STUD BRIDGING

PAPER-FACED L-SHAPED TRIM PAPER-FACED L-SHAPED TRIM

@ 24" OC

3 5/8" METAL STUD

A501

E3

ELEVATION VARIES SEE A101

A501

E2

ELEVATION VARIES SEE A101

METAL BOTTOM TRACK

FLOOR FINISH PLAN

FINISHED FLOOR - SEE

METAL STUD BRACE AS REQUIRED METAL STUD BRACE AS REQUIRED

SEE 1/A401

PHARMACY HALF-WALL ONLY

GYP. BD. ON SALES SIDE AT 

ADD 7/16" PLYWOOD BEHIND 

3 5/8" METAL STUD @ 24" OC3 5/8" METAL STUD @ 24" OC

5/8" GYPSUM WALL BOARD

5/8" GYPSUM WALL BOARD5/8" GYPSUM WALL BOARD

5/8" GYPSUM WALL BOARD

METAL BOTTOM TRACK

FLOOR FINISH PLAN

FINISHED FLOOR - SEE

METAL TOP TRACK

METAL BOTTOM TRACK

ABOVE

EXIST. STRUCT

@ 24" O.C.

3 5/8" 20 GA. METAL STUDS

FIN. FL.

U.L. DES. NO. U411

BOTH SIDES, FIRE TAPED

(2) LAYERS �" FIRECODE GWB 

A501

E4

METAL BOTTOM TRACK

FLOOR FINISH PLAN

FINISHED FLOOR - SEE

3 5/8" METAL STUD @ 24" OC

5/8" GYPSUM WALL BOARD

5/8" GYPSUM WALL BOARD

METAL STUD BRACE AS REQUIRED 4’-0" AFF

D1

A101

WALL SECTION

3/4" = 1’-0"

C1

A101

WALL TYPE

3/4" = 1’-0"

B6

A401

WALL TYPE

3/4" = 1’-0"

B5

A401

WALL TYPE

3/4" = 1’-0"

A7

401

WALL TYPE

3/4" = 1’-0"

A4

A101

WALL TYPE

3/4" = 1’-0"

A3

A101

WALL TYPE

3/4" = 1’-0"

1
0
/

2
1
/

1
1

IS
S

U
E

D
 

F
O

R
 

H
A

N
N

A
F

O
R

D
 

1
0
0

%
 

R
E

V
IE

W
1

ELEV AFF= 8’-6"

E6

A101

WALL SECTION

3/4" = 1’-0"

FIN. FL.
PATCH AND PAINT

BOARD TO REMAIN.

EXIST. GYPSUM WALL

TO REMAIN

EXIST METAL STUDS

TOP TRACK TO REMAIN

EXIST METAL STUD

OR APPROVED EQUAL

BY THE STEEL NETWORK

GAGE CLIP @ EACH STUD.

NEW "STIFFCLIP" CL 20 

PATCH JOINT FLUSH.

OF NEW WALL HEIGHT.

BOARD CONT. TO TOP

�" GYPSUM WALL

AND INSTALL NEW

1’-0" OF SHEATING

REMOVE EXIST. TOP

WALL BOARD

NEW �" GYPSUM

TOP OF NEW PART.

@ 24" O.C.

MATCH EXIST.) 

(THICKNESS TO 

NEW METAL STUDS 

V.I.F.

EXIST. ADJ. PART.)

14’-0" (TO MATCH

L-SHAPED TRIM

NEW PAPER-FACED

10’-0" (–) V.I.F.

TOP OF EXIST. PART.

TOP TRACK

18GA NEW METAL STUD

FIN. FL.

TOP TRACK

NEW METAL STUD

PATCH AND PAINT

BOARD TO REMAIN.

EXIST. GYPSUM WALL

TO REMAIN

EXIST METAL STUDS

TOP TRACK TO REMAIN

EXIST METAL STUD

OR APPROVED EQUAL

BY THE STEEL NETWORK

GAGE CLIP @ EACH STUD.

NEW "STIFFCLIP" CL 20 

PATCH JOINT FLUSH.

OF NEW WALL HEIGHT.

BOARD CONT. TO TOP

�" GYPSUM WALL

AND INSTALL NEW

1’-0" OF SHEATING

REMOVE EXIST. TOP

TOP OF NEW PART.

@ 24" O.C.

MATCH EXIST.) 

(THICKNESS TO 

NEW METAL STUDS 

V.I.F.

EXIST. ADJ. PART.)

14’-0" (TO MATCH

L-SHAPED TRIM

NEW PAPER-FACED

10’-0" (–) V.I.F.

TOP OF EXIST. PART.

WALL BOARD, TYP.

NEW �" GYPSUM

@ 4’-0" O.C.

BRACING, WALL TO WALL,

PROVIDE 3�" METAL

SEE COOLER PLAN

COOLER/FREEZER SIDESALES SIDE

ELEVATION VARIES SEE A101

ELEV VARIES SEE COOLER PLAN

PAPER-FACED L-SHAPED TRIM

METAL TOP TRACK

CONTINUOUS BOTTOM TRACK

FLOOR FINISH PLAN

FINISHED FLOOR - SEE

METAL BOTTOM TRACK

ABOVE 12’-0"

BRACE ALL WALLS

3 5/8" METAL STUD @ 24" OC

5/8" GYPSUM WALL BOARD

5/8" GYPSUM WALL BOARD

JOIST TO JOIST

‘ LLH SPANS FROM

NUT AND WASHER (TYP)

BOTTOM CHORD OF BAR JOIST

WITH LOCK NUT AND WASHER

�" DIAMETER ROD @ 6’-0" OC

P87

THIS SHEET

SEE DETAIL C5 

ROOF FRAMING. 

POST.  FASTEN TO

NESTED MET. STUD

1
1
/

1
8
/

1
1

IS
S

U
E

D
 

F
O

R
 

C
O

N
S

T
R

U
C

T
IO

N
2

D4

A101

WALL TYPE

3/4" = 1’-0"
C4

A501

HANGING ROD SUPPORT DETAIL AT SOFFIT

1�" = 1’-0"

SEE DET. C4/A501

1
0
/2

1
/1

1

S
c
a
le
 :

D
a
te
  
:

C
h
e
c
k
e
d
 b

y

D
ra

w
n
 b

y

D
e
s
ig

n
e
d
 b

y

:::

H
a
n
n
a
fo
rd
 B
ro
s
. 
C
o
.

F
L

O
Y

D
 W
. 

M
c
C

O
L
L

U
M
, 
J
R
. 

A
IA

P
r
o
je

c
t 

T
it
le
:

Project No.

Drawing No.

Seal:

N
o
.

D
a
te

R
e
v
is
io

n

P
r
e
p
a
r
e
d
 

B
y
:

C
o
n
s
t
r
u
c
t
io

n
 

M
a
n
a
g
e

m
e
n
t
, 

a
n
d
 

R
e
la
t
e
d
 

S
e
r
v
ic

e
s

C
o
n
s
u
lt
a
n
t
s
 
in
 

P
la

n
n
in

g
, 

E
n
g
in

e
e
r
in

g
, 

A
r
c
h
it
e
c
t
u
r
e
, 

1
1
/1

8
/2

0
1
1

8
:5

0
:5

1
 A

M

654321

A

B

C

D

E

1 2 3 4 5 6

3
8
5
0

M
A
IN

E
 L
IC

E
N

S
E

D
 A

R
C

H
IT

E
C

T
:

N
A

M
E
:

A
R

C
H
IT

E
C

T
 O

F
 R

E
C

O
R

D

P
O

R
T

L
A

N
D
, 

M
A
IN

E
 0

4
1
0
1

S
T

O
R

E
 #

8
3
5
1
 -
 2

9
5
 F

O
R

E
S

T
 A

V
E

N
U

E

S
U

P
E

R
M

A
R

K
E

T
 &
 P

H
A

R
M

A
C

Y

R
E

M
O

D
E

L
 H

A
N

N
A

F
O

R
D

P
h
o
n
e
: 

4
0
7
-

9
0
3
-

5
0
0
1
 

F
a
x
: 

4
0
7
-

9
0
3
-

5
1
9
0

O
r
la

n
d
o
, 

F
lo
r
id

a
 
3
2
8
1
9
-

7
9
6
2

5
7
5
0
 

M
a
jo
r
 

B
o
u
le

v
a
r
d
, 

S
u
it
e
 
4
0
0

J
A

C
O

B
S
 E

N
G
IN

E
E

R
IN

G
 G

R
O

U
P
 I
N

C
. 
 9
5
-4

0
8
1
6
3
6

J
A

C
O

B
S
 C

O
N
S

U
L
T

A
N

T
S
, 
IN

C
. 
 7
5
-2

8
3
6
5
3
9

FRYR0300

H
B

C
-

P
O

R
T

L
A

N
D
, 

M
E

�" DIAMETER EXPANSION ANCHORS

BASE PLATE 3x8x�" - BOLT TO FLOOR WITH

�" GYPSUM WALL BOARD

3�" METAL STUDS

HSS LOCATED AT EACH END OF PARTITION

3x3x 5/16" HSS - CUT 4" SHORTER THAN WALL

6"

�" GYPSUM WALL BOARD

3�" METAL STUD

CORNER BEAD

WOOD BLOCKING

3�" METAL STUD

WOOD BLOCKING

CORNER BEAD

�" SLOT FOR PLEXI GLASS

E1

A401

HALF WALL SUPPORT DETAIL

3" = 1’-0"

E2

A501

WOODEN CAP DETAIL

3" = 1’-0"

AND LOCATIONS

SEE A101 AND A401 FOR HEIGHTSNOTE: 

AND LOCATIONS

SEE A101 AND A401 FOR HEIGHTSNOTE: 

OVERHANG GWB BELOW �" BOTH SIDES

FINISH: W2/S2 (SEE FINISH SCHEDULE).

PLUG SCREW HOLES AND SAND

WITH 3/8" BEVELED EDGE

" OAK CAP4
5

OVERHANG GWB BELOW �" BOTH SIDES

FINISH: W2/S2 (SEE FINISH SCHEDULE).

PLUG SCREW HOLES AND SAND

WITH 3/8" BEVELED EDGE

" OAK CAP4
5

GRILLE 

CENTER LINE OF FOLDING 

�" GYP BD

3x3x �" HSS

WOOD BLOCKING

3�" METAL STUD

B2

A401

PHARMACY FOLDING GRILLE

3" = 1’-0"

3�" METAL STUD

WOOD BLOCKING

"2
11

"
2

1
1

E4

A501

CORIAN WALL CAP AT CAFE

3" = 1’-0"

SEE A101 AND A401 FOR LOCATIONSNOTE: 

E3

A501

WOODEN CAP DETAIL W/ SLOT FOR PLEXI GLASS

3" = 1’-0"

ALLOWED

EXPOSED FASTENERS

INSTRUCTIONS, NO

MANUFACTURER’S

BLOCKING PER 

ADHERE TO WOOD

FOR FINISH.

SEE A205 AND A206

CORIAN WALL CAP,

STUDS @ 24" OC

3 �" x 24 GA MTL

x18 GA MTL STUDS

CONT (2) 3 �"

PAINTED GYP BD

x16 GA MTL TRACK

CONT  3 �"

TOP & BOTT. (TYPICAL)

#10 SCREWS @ 6" O.C.

MTL TRACK

CONT 3 �" x 16 GA

PAINTED GYP BD

TOP AND BOTTOM

SQ PLATE WASHER 

LOCK NUT W/ 3/16" x 3"

C3

A103

SOFFIT DETAIL

3" = 1’-0"

C4/A501

@ 6’-0" OC.  SEE DET

�"DIA THREADED ROD

3�" METAL STUD

WOOD BLOCKING

"2
11

"
2

1
1

SEE A101 AND A401 FOR LOCATIONSNOTE: 

E5

A501

CORIAN WALL CAP AROUND COLUMN AT CAFE

3" = 1’-0"

SEAL AT COLUMN AS REQ’D

NO EXPOSED FASTENERS ALLOWED.

MANUFACTURER’S INSTRUCTIONS,

ADHERE TO WOOD BLOCKING PER 

AND A206 FOR FINISH.

CORIAN WALL CAP, SEE A205

2�" METAL STUDS

STEEL COLUMN BEYOND

EXIST STURCT

C5

A501

NESTED MET. STUD COLUMN

3" = 1’-0"

WALL BELOW

CONT. MET.

�" GWB

WALL BELOW

WOOD BLOCKING

STUD W/CONT.

DOUBLE MET.

STUD TRACK

CONT. MET. 

A8

A101

WALL CLOSURE DETAIL

3" = 1’-0"

OBSTRUCTION TO MOVEMENT

AT BOLTS TO ELIMINATE

SLIP TRACK - PROVIDE HOLE

CHANNEL

TRIM STUD FLANGE AT 

ROOF DECK, TYP.

�" GYP BD, EXTEND TO 

C6 X 8.2

J-MOLD, TYP.

FASTENER PATTERN.

CHANNEL WEB.  DEPLICATE 

FOR 2" HORIZONTAL RETURN AT 

STUD FLANGES AND BEND WEB 

CONTRACTOR’S OPTION TO TRIM 

AND VERTICAL STUDS, 2 EA LEG.

1" WIDTH.  FASTEN TO CHANNEL 

20 GA CLIP ANGLE, 2" LEGS, 

@ 24" OC, TYP.

1�" MTL STUDS

SEALANT, TYP.

BACKER ROD AND

�" TEK SCREWS, TYP.

DECK @ 18" OC WITH #8 X 

1�" TRACK ATTACHED TO 

TYP.

PROVIDE CONT SEALANT.

FLUTES OF MTL DECK.  

CUT/FORM GYP BD AROUND 

EXIST. MET. ROOF DECK

BEYOND

AND BOTTOM CHORDS

ROOF JOIST TOP

C6 X8.2

ROOF DECK, TYP.

�" GYP BD, EXTEND TO 

TO MOVEMENT

ELIMINATE OBSTRUCTION 

HOLE AT BOLTS TO 

SLIP TRACK - PROVIDE 

3X3X3X8 STL ANGLE

3
’
-

2
"

4" 4"

"2
16

6’-2"

"
2

1
2
’
-

5

MAGNETIC CATCH

PIANO HINGE WIRE PULL &

HEIGHT WITH CONTINUOUS 

�" MDO PLYWOOD DOOR FULL

1X WOOD TRIM, PAINTED

�" GYP BD, TYP.

3 �" METAL STUDS, TYP.

B1

A401

PHARMACY FOLDING GRILLE

3/4" = 1’-0"

Fr

9 9.1

TYP.

2�" METAL STUDS,

�" GYP BD ON

AS REQ’D

METAL STUDS

REQ’D, TYP.

BOTTOM TRACK AS

METAL STUDS AND

TYP.

CORNER BEAD,

D2

A401

COLUMN ENCLOSURE DETAIL

3/4" = 1’-0"

6
"

3’-0"

4’-0"

ELEVATION AFF = 11’- 0"

3�" METAL STUD AT 24"OC

CONTINUOUS 3�" METAL TRACK

SOFFIT

PAINT TO MATCH FACE OF

�" GYPSUM WALL BOARD

SQUARE PLATE WASHER

LOCK NUT WITH �"x3"

METAL STUD

CONTINUOUS 6"(VERTICAL)

CONTINUOUS 6" METAL TRACK

�" GYPSUM WALL BOARD

JOIST AT 24"OC

CONTINUOUS 6" METAL 

PAPER-FACED L-SHAPED TRIM

SEE DETAIL C4/A501

WITH LOCK NUT AND WASHER 

�" DIAMETER ROD AT 6~0"OC 

T&B (TYPICAL)

WITH #10 SCREWS AT 6~0"OC 

CONTINUOUS 6" METAL TRACK 

3�" METAL STUD

FROM JOIST

ACT CEILING HUNG 

METAL TRACK

CONTINUOUS 6" 

WALL

ELEVATION AFF = 10’- 6"

6
"

D3

A103

DELI SOFFIT

3/4" = 1’-0"

ELEVATION AFF = 10’- 6"

ELEVATION AFF = 8’- 0"

3�" METAL STUD AT 16"OC

CONTINUOUS 3�" METAL TRACK

CONTINUOUS 6" METAL TRACK

JOIST AT 24"OC

CONTINUOUS 6" METAL 

PAPER-FACED L-SHAPED TRIM

�" GYPSUM WALL BOARD

3�" METAL STUD

CONTINUOUS 6" METAL TRACK

JOIST AT 16"OC

CONTINUOUS 6" METAL 

@ 16" OC

3�" METAL STUD

MANUFACTURER (TYP.)

AS RECOMMENDED BY

BRIDGING & BLOCKING

METAL TRACK

CONTINUOUS 6" 

JOIST TO STUD

(4) #10 SCREWS

@ 6’-0" OC MAX

�" DIA. A36 THREADED RODS

AT 24"OC

6SW JOISTS

(CONTINUOUS) 

SINGLE PIECE 

1’-3"

2’-11"

SOFFIT

PAINT TO MATCH FACE OF

�" GYPSUM WALL BOARD

2
’
-

6
"

ELEVATION AFF = 12’- 6" (V.I.F.)

ELEVATION AFF = 12’- 6" (V.I.F.)

WALL

6
"

D5

A103

PHARMACY SOFFIT

3/4" = 1’-0"

D.7

7.8

B3

A401

COLUMN ENCLOSURE DETAIL

3/4" = 1’-0"

AS REQ’D

WOOD BLOCKING,

STEEL COLUMN

EXIST STRUCT

STEEL COLUMN

EXIST STRUCT

SEE A103

EXIST. CLG.

EXIST CLG. SEE A103

7
"

1
’
-
3
"

2�" METAL STUDS

�" GYP BD ON

A7 THIS SHEET

SEE WALL TYPE

3�" METAL STUDS.

�" GYP BD ON

E5

A501

18’-11"


